
Formules fournies à l’examen 
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Formules d’intégration   
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3. cos  sinx dx x C= +  

4. sin  cosx dx x C= − +  
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2sec  tanx dx x C= +  

6. 
2csc  cotx dx x C= − +  

7. sec tan  secx x dx x C= +  
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15. cot   ln sinx dx x C= +  

16. sec  ln sec tanx dx x x C= + +  
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Identités trigonométriques 

 
2 2sin   cos   1A A+ =
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Séries 
 

Série géométrique : 
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Séries de Riemann : 1
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Si 1p = , série harmonique 

Séries de puissances : 
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Série de Taylor :  
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Série de Mac Laurin :  
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3 5 7

sin ...
3! 5! 7!

x x x
x x= − + − +                                 x   

2 4 6

cos 1 ...
2! 4! 6!

x x x
x = − + − +                                 x   
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e x= + + + + + +                        x   

2 3 4 5

ln(1 ) ...
2 3 4 5

x x x x
x x+ = − + − + +                     1,1x  −  

 

 


